[bookmark: _GoBack][image: ]
[image: ]
[image: ]
image1.jpeg
£ = 0 ALHVELS) 2° ) Taylor AX.

G 267+ o,
B -2

/2,0 T




image2.jpeg
8 42). W 782 = )+ on

BEAAR RS,
Fevr= ot diy - s 4

/ AOLY 2K,
Foti= 1 2= ) = o0 o $ @)
fro) fon=xots
AT Pl o ) b of ~BE

BN Adrs k- L BB AR

= ar2-a) = 02|

b ) 300 E—sos, B9 /() (00)

ra-2Psm), x>0 :
- £,
ke > 3000, 1< b-2ebeprtoe

oos(a) + (b V(1 -)}, £ <0

EFA R RN
B (o) 4 = = 0 HAEHEY WO R A 2 =0 7 .

E & 0=2 ¢ tinfim=o 27 TE 1w« b R Ko -fol <t .
0t

By

it Ferc= L oo L fo=7 )

AR Wb = winlb b, 5y, 4], 9F M-nleses
hove Retfa 2AE Wb g

B -l e b bub By, x| o= £ 28 .
oo Rt bRt

FATACR




image3.jpeg
AR, AR = g
ea W

Q0. ) 588, Y FRASER € (0.1) AR

VR (C)

g s e

WE J(2) B2 =0 TS, IR F10) WAL

-t
gz Neo A6 Y ok h B

s
Yot O (P T g

L
=L -fien)
gl Fe: o Zo. oo L

fron-fiey
90 ¢ piace)

USRS

- @)

I+0-4071) -2 < < e @

(o) 2 [0, IS8, B (a,0) ET8, Bab >0, K 665 (00),

O 6)-5rc)

= Ao ERA)

Ay s )
L0 S ) = fih) by Lk
i g = i e g

BOW KO





